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01) Draw the structure of the major organic products P, Q, R, S, and T of the following reactions in the
relevant boxes.

HBr
i = >
CH3CH=CH- Beroxide P
H./Pd
ii. CHsz-C=C -CHs N > Q
Conc. H2S504
iii. CH3CH29=CH2 > R
CHs
CCl4/Br»
iv. CHsCH2 CH=CH> » S
Conc. H2S504 T
v. CH3CHCH.CH3 >
|
OH 170 °C

02) Show how compound B could be synthesized in less than 5 steps, using compound A as the only
organic starting material.

CH3CH2CH2CH2Br CH3CH=CHCH3
A B

03) Show how compound Y could be synthesized in less than 3 steps, using compound X as the only
organic starting material.

CHsCH2CHOH CH3CHCH,
OH
X Y
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